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seczA=1+tan2A:1+—=—,secA=— f A=—" ¢
3 2 \/?—’/) COS 5 J'/).’.'/

cosecA:ZiJ’ sinA=\¢1— COS2A = ‘/1 - % :%D/E”
_éu:fdﬁd/sin AY sec Assltan Accos Au;".'j:lzdt%/
ZJ_J]COSZA—FSinzA:l j’(‘j’
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cos’ A =1-sin’ A, i.e.,cos A= +./I-sin’A
(?U}."./) cos A =4/ 1-sin’A ‘aﬂuf‘cw

1 1 sin A sin A
sec A = = pitan A = = nf):.(
cos A Jl —sin? A cosA /1 —sin’ A

_sec A (1 —sin A)(sec A + tan A) = 1fé_~f,Lﬁ13Jl§"ﬁ

1 . 1 sin A
LHS = sec A (1 - sin A)(sec A + tan A) =| o x (1 —sin A) s A cosA

_(I-sin A)(1+sin A) 1-sin® A
cos’ A cos® A

2
_S A _|_pus
cos” A

cot A—cos A cosec A —1

cot A +cos A cosec A + 1 fécf.b‘:lﬂjt"

cot A—cos A sin A
cot A+ cos A cosA

LHS =

cos A — -1 .1 -1
sin A sin A _cosec A —1

- - - A+l
cos A| — ! +1 - ! +1 cosee
sin A sin A

2o 2 2 SinB-cosO+1 _ 1 N
f sec’O=1+1tan Jusin9+cos9—l sec O —tan O I..é‘/l’ '15JV

_&E e
[J‘QJ’)ILHSﬂ%iJLQ?JU’taﬂ 0.slsec Ouﬁgf‘a U/JW'J‘U}MJ:‘ZJK/:JV
cos e/V?J/;ioM?(TiLL/Lg!:ZuiJ},ui‘(ﬁJtan 0.slsec O(CL;L/QE‘U.‘:‘Z)’/J

=RHS
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sin® —cosO+1 tanO—1+secO
sin@+cosO—1 tan 0 +1—sec 0

_ (tan O +sec 0)—1  {(tan O + sec 0) — 1} (tan O — sec 0)
_(tane—sec 6) +1 - {(tan 6 — sec 0) + 1} (tan 6— sec 0)
_(tanze—sec2 0) — (tan O — sec 0)

_{tane—sece+1} (tan© — sec 0)

B —1—tan O + sec O

_(tane—sece+1) (tan 6 — sec )

—1 1

LHS =

tan O —secO® secO —tan O

Bt b"u:q/gf?‘aRHS i JL?,;WL}Z

8.4
‘"éu:f:u(cot A/tan Asslsec Acsin AU?JU’/J".{}’C" -1
-ﬁéfuﬁ;ﬁ”-ﬁ;’f}(ﬁuﬁdﬁd/ sec AY ZA -2
gf)“ﬁ,& -3

sin” 63°+ sin® 27°
30 D

cos” 17° + cos” 7
sin 25° cos 65° + cos 25° sin 65° (ii)
SR e"lzrt/,'%/.,lzéé -4
(i) 9sec* A—9 tan’ A =
(A)1 (B)9 (C)8 (D)0
(i1) (1 + tan 6 + sec ©)(1 + cot ©6 — cssec 0)=
(A)0O B)1 (©)2 (D)-1
(iii)(sec A + tan A)(1 —sin A)=

(A)sec A (B)sin A (C)cosec A (D)cos A
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~ l+tan® A
(1v)1 +cot’ A

(A) sec” A (B)-1 (C)ycot” A (D) tan” A

~ SIS LSl sl ip G e ZE bl WU S i 5

1- 0 A 1+sin A
(i) (cosO—cot§)? = — Y Giy —S8A L ITSNA g e A
1+cos O 1+sin A cos A
tan 6 cot O
(iii) + =1+ sec O cosec O
lI-cot® 1-tan O

(éufﬁd/cos 0.3/sin chulfiulﬁl]
(ivyLFsec A sin®A (2% % e Rus AILHS 021
sec A 1—cos A

A —sin A +1
(v) &8 s = cosec A + cot A,

cos A +sin A —1
-écf.b‘/dl.ﬁ“if cosec’A =1+cot’ A J“V"

1+sinA in 0 — 2 sin’
(vi) i =sec A +tan A (vii) M:tane
1 —sin A 2¢0s°0 —cos O

(viii) (sin A + cosec A)* +(cos A +sec A)” = 7+tan” A +cot” A

1
tan A + cot A

[é/‘ffwf‘wﬂ‘/ RHS/LHS /1]

(ix) (cosec A — sin A)(sec A — cos A) =

, , B 5
%) 1+tan2A _ 1 —tan A —tan’ A
1+ cot”A l—cot A

~ 8.6
~Uggdfgd5g/ﬂ.¢?,7uf*gu’l

Ut FE/BRABCELAFEL -1

tan A = éJJG”KAd’U cos A= éﬂ!w{A”’U sin A=M
ébygAc/}U /”, -
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cosec A = — ;sec A = ;tan A =

sin A cos A cot A cos A ~2
-u;i/f(k':.&wuf?&gﬁ}9(FMJﬂ;@Vg@,uJu,uﬂ 3
UL oe60Pea 503000y -4

oolie e 1258 cosec Absec Afy%&cnuji)pé’fl/jd/cosA slsin A -5

Y-

¢

sin (90° — A) =cos A, cos (90° — A) =sin A; <6

tan (90° — A) =cot A, cot (90° — A) =tan A;

sec (90° — A) = cosec A, cosec (90° — A) = sec A.
sinA+cos’A=1 _7

dL0°<A<90° sec? A—tan? A =1

i£O°< A <90° cosec’A=1+cot’ A
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